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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['ECC:b—0’,

"FVIEC:r—-o’,

"ECIl:g—o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-11_0
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P3-11

BfiE) | FEBIETK (D) | E#=E (EH/K) | XK R
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P3-11
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P3-11

BriE) | EBIATK (D) | EHE (EH/HK) | XK R

07:25 300 150.0 iE| 1BRi%e07:25 B (REERSE)
08:15 300 150.0 BE| {Ri&e08:15 Bl (REAEHE)
09:05 300 150.0 |Z=| 1Ri%e09:05 B3 (RF{EEEE)
10:05 300 150.0 | =| 1Ri&e10:05 Bz (KREBEEE)
11:00 300 150.0 (2 =| 1BRi%e11:00 Bz (kAFERSE)
11:50 300 150.0 [Z=| fRi%e11:50 Bz (GGREEREEE)
12:35 300 150.0 | =| 1Ri&e12:35 Bz (KRBEEE)
13:20 300 150.0 (Z=| 1Ri%@13:20 Bz (REERSE)
14:05 300 150.0 |Z=| 1Ri&e@14:05 Bzl (GREB{EEE)
15:00 300 150.0 (Z=| 1Ri%@15:00 B3h (GkEBERSE)
=23+13000.0 (10)%) 1500. 0 3233 %EC: 2080.0, PH: 6.0

MEBEHERE STMAAEARS (195.0 : 156.0), AIREHTF—@E XAH4
ZRIALBRERE156. 0 ml.
AEREMEC (2660.0) 5i%EEC (2000.0) RELK KA, B/E



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-11_0, Day=44 (2025-05-16)
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100 A
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(¢
200 A
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242 123

40
Warning: lcol [FVI',| "FVO’'] missing 80
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- 2000
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1.0
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Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing
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P3-11

BriE) [ EBIETK (D) | EHE (EH/HK) | XK ERE

07:15 294 150.0 (2 =| 1Ri%e07:15 Bzh (kEBERSE)
08:05 294 150.0 |Z=| 1Ri&e08:05 Bzl (kFA{EEE)
08:55 294 150.0 |Z=| 1Ri&@08:55 Bzl (KPB{EEE)
09:55 294 150.0 FH| {RRi&@09:55 Bz (FRAERES)
10:45 294 150. 0 B {Bige10:45 Bz (RP1ERKE)
11:45 294 150.0 S| 1Rige11:45 Bzh (REEZRSE)
12:30 294 150.0 RS Ri%e12:30 B3 (REAERESR)
13:15 294 150.0 el Rige13:15 Bal (REAEHE)
14:10 294 150.0 el Rige14:10 Bz (REAEHE)
15:05 294 150.0 B Rige15:05 Bz (REAERSE)
16:05 294 150.0 RS {Rige16:05 Bz (REERSE)
23t 3234.0 (11)%) 1650. 0 32 F%KEC: 2080.0, PH: 6.0

MEREHERE STMAAEARS (195.0 : 150.0), AREHTF—@E XAH4
ZRIALBRIERE150. 0 ml.
AEREMEC (2715.0) 5i%EEC (2000.0) RELK KA, B/E



P3-11_0, Day=43 (2025-05-15)
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cumET (ml/plant)



15.

15.

13.

15.

14.

14.

14.

15.

14.

14.

14.

14.

14.

T
600

860
m=635,n FV0=0

T
1000

——

M_E

6&0 6&5
m=845,n FV0=0

00 ~

98 -

96

94 -

92

90 -

——

M_E

850 855

26 -

24 -

22 -

600

800
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m=495, FV0=0

14. 00

13. 75 A

13. 50 -

13. 25 A

13. 00 A

; t
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m=675,n FV0=0

15.8 A

15.6 A

15. 4 4

15.2 A
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m=885,n FV0=0
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15.10 A

15. 05

15. 00 A

14. 95

14. 90 A

860 855
m=495,n FV0=0

885

23.0

22.5 A

22.0 -

21.5 A

21.0 A

-o— MW

495 500 505

13.

13.

13.

13.

13.

13.

13.

15.

15.

15.

15.

15.

15.

15.

15.

15.

15.

15.

24.

23.

23.

22.

22.

m=535, FV0=0

60

55 A

50 -

45 ~

40 -

35 A

30 A

M_E

5é0 5é5
m=735,n FV0=0

7&0 7&5
m=940,n FV0=0

9&5 950
m=555,n FV0=0

0 -

555

560 565

14.

14.

14.

14.

14.

m=590, FV0=0

8

6_

4 4

2 4

0 -

M_E

595 600
m=790,n FV0=0

15. 30 -

15. 25 A

15. 20 A

15.15 A

15.10

16.

16.

16.

15.

25.

25.

24,

24.

23.

795 800
m=995,n FV0=0

995

1600 10b5
m=590,n FV0=0

——

M_W

590

595 600
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m=635, FV0=0

——
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m=845,m FV0=0
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P3-11

BfiE) | EBIETK (D) | EB=E (EH/EK) | XK EFE

12:25 294 150.0 FA| 1Ri&e12:25 B (RAHERRSE
13:05 294 150.0 |Z=| 1Ri&e13:05 Bzl (GREBEEEE)
13:45 294 150.0 (2 =| 1BRi%e13:45 Bz (kAFERSE)
14:25 294 150.0 (B =| Ri%e14:25 Bz (GkBFERSE)
15:00 294 150.0 | =| 1Ri&e15:00 Bz (KRBEEE)
15:40 294 150.0 (Z=| 1Ri%@15:40 Bz (REERSE)
24t 1764.0 (6%) 900. 0 3ESHKEC: 2080.0, PH: 6.0

TERRHLER 2 STEELRT (191.0 :

ZRIALBRERE153.0 ml.

153.0), AlEEHT—@ % XA HS
AEREMEC (2700.0) 5i%EEC (2000.0) RELK KA, /T




P3-11_0, Day=42 (2025-05-14)
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